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1 DarwinPlateau

Model Gauss (User)

2 if (((x-xl)/wl) <-1)
y=A*(1-(1-1/(((x-x)w)*2) )*0,5)) +y0 + A
_g*exp(-0.5*((x-xc_g)/w_g)"2);

}
else
{
if (((X-xl-w)/wr) > 1)
y=A*(1- (1 - 2/((x-xI-w)/wr)*2) )(0,5)) + yO +
A_g*exp(-0.5*((x-xc_g)/w_g)"2);
}
else
{ A+y0+A 0.5 / A2
=A+ + * -0.5%((x- ;
Equation = A*Y0+ A grerpt0 5 (bexo_g)w o2
}
3 | Reduced 14416.35119
Chi-Sqgr

4| Adj. R-Square 0.62589

5 Value Standard Error

6 A -244.23436 15.72063

7 y0 1237.47845 10.81622

8 x| -978.94874 19.77206

9 w 291.24855 5.35995E10

10 | t:leOpin wi 20.84565 8.13978
11 wr 4,42775E-5 397036.23256
12 Ag -560.72408 30.41977
13 XC_g -620.62146 3.23076
14 w_g 42.73377 2.81083




